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2018 July Juniper INO-102 Exam Dumps with PDF and VCE New Updated Today! Following are some new JNO-102 Real Exam
Questions: QUESTION 1 The IP address 10.1.1.1 belongs to which class of |P address space?A. ClassAB. ClassBC. Class
CD. ClassDAnswer: AQUESTION 2For the interface ge-1/2/3.4, what does "ge'" represent?A. SONET/SDHB. Gigabit
EthernetC. Aggregated EthernetD. GREAnswer: BQUESTION 3Which word starts acommand to display the operational status
of adunosdevice?A. putB. setC. showD. getAnswer: CQUESTION 4Which command prompt indicates that you arein
operational mode?A. user@router&B. user@router#fC. user@router%D. user@router>Answer: DQUESTION 5What isthe
decimal equivalent of 000001007A. 2B. 4C. 9D. 12Answer: BQUESTION 6What isavalid IPv6 address?A.
00:05:85:23:45:67B. 127.0.0.1C. 2001:0db8:3000:2215:0000:0000:a882:1111D. 49.0001.0192.0168.1001.00Answer: C
QUESTION 7Which simplified |Pv6 address is the same as the | P address 2001:0000: 1000:0000:0000:cbff:0020:0001/647A.
2001::1::cbff:2:0001/64B. 2001::1000::cbff:20:1/64C. 2001:0:1000::cbff:20:1/64D. 2001:0:1:0:0:cbff:2:1/64Answer: C
QUESTION 8Wheat are three characteristics of UDP? (Choose three.)A. UDPisfaster than TCP.B. UDP operates at the
Transport Layer.C. UDP isconnection-oriented.D. UDP datais sent best-effort.E.  UDP ismore reliable than TCP.Answer :
ABDQUESTION 9Which layer in the OSI model isresponsible for trandlating frames into bits?A. Application LayerB.
Presentation LayerC. Datalink LayerD. Physical LayerAnswer: CQUESTION 10Which layer in the TCP/IP model is
responsible for delivering packets to their destination?A.  Application LayerB. Transport LayerC. Internet LayerD. Network
Access LayerAnswer: CQUESTION 11Why is |Pv6 packet processing more effective than 1Pv4 packet processing?A.  fixed
header sizeB. smaller header sizeC. fewer header fieldsD. variable header sizeAnswer: AQUESTION 12A user opens a
webpage that requires the transmission of packets from the Web server to the client's browser. The packets transmitted from the Web
server to the client exceed the smallest MTU value on the communications path.Which two protocol functions allow this type of
communication? (Choose two.)A. packet segmentationB. serialized checkingC. packet sequencingD. parallel checking
Answer: ACQUESTION 13Which two statements are true about TCP communication? (Choose two.)A. The receiver
acknowledges the final packet in each communications stream.B.  The receiver adds sequencing numbers to the packets received.C.

The sender adds sequencing numbers to the packetsit sends.D. The receiver acknowledges each packet it receives from the
sending device. Answer: ACQUESTION 14Which two statements are true about optical networks? (Choose two.)A. SONET and
SDH both use time-division multiplexing.B. An optical transport network system uses time-division multiplexing.C. SONET and
SDH both use wavelength-division multiplexing.D.  An optical transport network system uses wavelength-division multiplexing.
Answer: ADQUESTION 15At which layer of the OSI model does error checking occur with IPv6?A. Layer 2B. Layer 3C.
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